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

 mit der Einheitsmatrix 

erweitern 

1 0 01 0 2

1 2 3 0 1 0

2 1 4 0 0 1
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Z1 + Z2 → Z2 

und  

−2*Z1 + Z3 → Z3 

1 0 01 0 2

0 2 1 1 1 0

0 1 0 2 0 1
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 2. und 3. Zeile 

vertauschen  

1 0 01 0 2

0 1 0 2 0 1

0 2 1 1 1 0
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 
 
 
 

 



 2*Z2 + Z3 → Z3 

1 0 01 0 2

0 1 0 2 0 1

0 0 1 3 1 2

 
 
 
 
 
 

 

 

 2*Z3 + Z1 → Z1 

5 2 41 0 0

0 1 0 2 0 1

0 0 1 3 1 2
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 
 
 
 
 



 

 

 
(−1)*Z2 

und  

(−1)*Z3 

5 2 41 0 0

0 1 0 2 0 1

0 0 1 3 1 2

 
 
 
 
 
 




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 Ergebnis ablesen 
1
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2 0 1

3 1 2

A
 
 
 
 
 
 



 

 

 ENDE 



1 6 4

0 2 1

1 3 2
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 
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 
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


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1 0 01 6 4

0 2 1 0 1 0

1 3 2 0 0 1

 
 
 
 
 
 



 

 mit der Einheitsmatrix 

erweitern 

1 0 01 6 4

0 2 1 0 1 0

0 3 2 1 0 1

 
 
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 
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

 

Z1 + Z3 → Z3 

1 0 01 6 4

0 2 1 0 1 0

0 0 1 2 3 2
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 
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

  

 3*Z2 – 2*Z3 → Z3 

1 3 01 0 1

0 2 1 0 1 0

0 0 1 2 3 2
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−3*Z2 + Z1 → Z1 

1 0 21 0 0

0 2 0 2 4 2

0 0 1 2 3 2
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Z3 + Z1 → Z1 

und  

Z3 + Z2 → Z2 

1 0 21 0 0

0 1 0 1 2 1

0 0 1 2 3 2
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(−1)*Z1, 

0,5*Z2 

und 

(−1)*Z3 
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 
 
 
 
 
 

  



 Ergebnis ablesen ENDE 

 


